SSSF





Gevärsallsvenskan 2004
Omgång 5

Div. 1







Örgryte 3

2 2 2
 2 2
=10
191 190 189 189 187    =   946

Örgryte 3

- Lokrume 1

187-177
Lokrume 2
2 2 2
 0 2
= 8
177 177 183 177 186    =   900

Örgryte 2

- Forsa PK 2

181-167
Lokrume 1
0 2 2
 2 0
= 6
176 183 177 178 177    =   891

Forsa PK 1
- Lokrume 2

178-186
Örgryte 2

0 0 0 2 2
= 4
178 171 174 176 181    =   880










Forsa PK 1
2 0 0 0 0
= 2
175 179 173 175 178    =   880










Forsa PK 2
0 0 0 0 0
= 0
172 176 176 167 167    =   858

Div. 2







Nybro 1

2 2 2
 0 0
= 6
176 186 184 181 176    =   906

Eskilstuna

- ---



168- --
Eskilstuna

2 0 2 0 0
= 4
167 169 169 167 168    =   840

Ärla


- Nybro 1


184-176
GSS 1

0 2 0 2 0
= 4
154 176 175 171 159    =   835

Orust

- GSS 1


171-159
Ärla


0 0 0 2 2
= 4
138 153 175 173 184    =   832










Orust

0 0 0 0 2
= 2
162 172 152 162 171    =   819

Div. 3







Forsa PK 3
2 2 2 0 2
= 8
174 170 169 168 176    =   957

Nybro 2

- ---



153- --
GSS 2

2 2 0
 2 0
= 6
151 164 000 175 170    =   660

GSS 2

- Forsa PK 3

170-176
Forsa PK 4
0 0 0 0 2
= 2
170 170 163 176 164    =   843

Forsa PK 4
- ENSK


164-146
ENSK

0 0 0
 2 0
= 2
143 158 148 165 146    =   760










Nybro 2

0 0 2 0 0
= 2
137 142 165 155 153    =   752

SSSF





Trippelallsvenskan 2004

Omgång 5

Div. 1







ESS


2 2 2
 2 2
=10
269 263 269 269 276    = 1346

ESS


- Örgryte 2

276-239
Volvo PK C
0 2 2 0 2
= 6
250 266 269 257 265    = 1307

Karlskrona
- Forsa PK 1

260-258
Karlskrona
0 0 2 1 2
= 5
239 258 267 247 260    = 1271

Forsa PK 2
- Volvo PK C

254-265
Forsa PK 2
1 2 0 1 0
= 4
252 251 261 247 254    = 1265










Forsa PK 1
1 0 0 2 0
= 3
252 247 257 260 258    = 1274










Örgryte 2

2 0 0
 0 0
= 2
256 244 239 254 239    = 1232

Div. 2







Örgryte 1

2 2 0 2 2
= 8
243 247 245 262 258    = 1255

Örgryte 1

- Ärla


258-214
ENSK

2 2 2 0 2
= 8
242 239 249 235 261    = 1226

Orust

- Sundsvall

249-255
Sundsvall

0 0 2 2 2
= 6
229 233 257 251 255    = 1225

ENSK

- Forsa PK 3

261-250
Forsa PK 3
2 2 0 0 0
= 4
248 253 256 261 250    = 1268










Orust

0 0 2 2 0
= 4
232 235 241 256 249    = 1213










Ärla


0 0 0
 0 0
= 0
211 237 218 246 214    = 1126

